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57-1 BLOCK

B4 - X
X0-Y0 -~ 150600.000
57~1-1 - 150678, 462
57-1-5 - 150676 .063
57-16 - 150678 .090
57-1-7 ~ 150716.546
5718 ~ 150717.972
5714 ~ 150718.871
K151 - 150710.576
K150 -~ 150703 . 064
K149 - 150698.202
K148 - 150679.172
5711 - 150678, 462
1 1L.OT

N & X
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571 ~ 150678.462
57-1-5 - 150676.063
57-1-6 -~ 150678.090
57-1-9 -~ 150702.613
K150 - 150703.064
K149 - 150698202
K148 - 150679.172
57-1-1 -~ 150678.462
2 1L.OT
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57~1~9 - 150702.613
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67-1-8 - 150717.972
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K150 - 150703.064
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(XN=1-X0r % (Y-Y()

1786.422816
1566.441422
1579.994970
2516.577778
7487 .210952
T616.540454
7145.531696
6697 .304848
6400.020744
5159.639240
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47955.684920

(XN-1-X0)% (Y-YD)

+  1786.422816
t 1566.441422
+1590.224760
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+  6697.304848
+  6400.020744
+ 5159.639240
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